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Circle the objects having the same shape.
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3-Choose the correct answer:

66 =

50 =— ( Fifteen or Five or Fifty)

( Sixteen or Sixty or Sixty-six)

47 =—— ( Forty or Seventy-four or Forty-seven )

18 = — ( Eighteen or Eighty or Eight)




bl o 5l 8138
ol ki duyS 5b 8,103
ot o 3 i i

4- \Write in diqits:

Twenty-one
Seventy

. Fifteen M-

Sixteen !

5- Plot dots to represent the number:
Nine 12

| |

6- Count. Circle the correct number:
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Eighty Eighteen
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7- Compelet:

8- Compelet with the suitable numbers:

e || A

. 12+3= | Sl
.44+7= + 3

A+ 73=

10- Subtract

. 99-8=
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Answer the following.

1. Ahmed bought a pen for 5 pounds and a ruler for 3 pounds.
How much money did Ahmed pay ?
What Ahmed paid = — + = pounds.

12-

vatch to make 10.

4 3 5 0 2

Se:/en S.ix Tén Eig.;ht F i:/e

13- choose the Correct:

12 +7 = (9 or 19 or 18)
11-4= (5 or 7 or 9)

Ten + Seven = (17 or 18 or 19)
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14- Add or subtract ,then compelet using (<, >, =):

9+ 6 20 - 7

O

18210 5@ 3

15-
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Count. Color according to the number.
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